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POLITICAL SCIENCE — HONOURS
Paper : DSE-B-2
(Development Process and Social Movements in Contemporary India)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
Answer the following questions (each in a single sentence) : 1x15

(a) Who is the ‘father’ of the Green Revolution in India?
(b) What was the main goal of the Second Five Year Plan in India?

(c) What was the main cause of the Structural Adjustment Programmes in India under the New
Economic Policy (NEP) in 19917

(d) What is Mixed Economy?

(e) Mention two reasons of the current agrarian crisis in India.

(f) In which place was the first iron and steel industry in India built?

(g) Which sector has the largest share of Gross Domestic Product (GDP) in India?

(h) What is the importance of human resource in the realisation of the ‘Sustainable Development
Goals’?

(i) Name an enterprise known as ‘Navaratna’.

(G) To which class of people the institutions of governance was transfered from the British rulers?
(k) What is ‘subsistence farming’?

(I) What is ‘Operation Barga’?

(m) Name two leaders of the Santhal Uprising.
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(n) Which place was the origin of the Chipko Movement?

(0) Mention two prominent leaders of the civil rights movement in India.
Module - 1

Answer any one question (within 100 words) : 10%1
(a) Enumerate briefly the Industrial Development Strategy in the post-Globalization era in India.

(b) Discuss the major features of land reforms in India.

3. Answer any one question (within 500 words) : 15x%1

4.

5.

(a) Evaluate the role of the Indian State in Planning.

(b) Write a note on the role of the Green Revolution on the agrarian development in India.
Module - 2

Answer any one question (within 100 words) :

(a) What are the various concerns of the concept of resource mobilization? How do you relate it to the
goal of inclusive growth in India? 4+6

(b) Explain the emergence of New Middle Class in the post-Globalization India. 10

Answer any one question (within 500 words) :

(a) Discuss the problems faced by unorganized labour sector in India. Do they affect social mobility
adversely? Discuss. 1045

(b) Assess the role of the women’s rights movements in India. 15



